EARAROBEEIERT — 2 N— IBISH —F

201955390 () 2mfntE4R

mjﬂbﬁ%% C1 H5%—#% (w8 | mEmml - |5 ) w8
[x&<£] 1 % :1,500,000 @ ~ 23 :600,000  ~ 337#%&:375,000 M  43&:225,000 ™ ~ 5 3 :150,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i t 5 | AL 1:38.8 6-6-5-4 | 41.3| — 4 481 | EEETAA (ARAE)
11812/ B—2AX70 vy Y LA 54.0 st ue) | (B FpOy ke ki
LX:a—-I>FY> B:a—-HX IR
-2 2 i 5 | HERZ 1:38.9 11-12-12-12| 40.8 | — 9 479 | EAAER (0tE)
2 3=/ FRX3I— 54.0 (7€) +2) MEBE
L:ZAXHwLR B:YRSRTY—X Eliztve]
NI FHfE— : —7-8- — ITEZ (M5
3lslgl U ETLY it 5 o 1(.33/51.)0 7-7-8-8 | 41.4 1 z:g; fg.aa;ga
R:HY/RI47T B:TXR)y R (B) A3 -FRL—->a>@aEI7r
S 4 | RHEZ 1:39.0 1-1-1-1 | 42.3| — 3 435 | |ASR (#aHE)
41111 =%y a/\N> e 50 ZE) tg) | W \/;71
L= RKZIS> B:IRT—NT—N biEe]
- DS t 5 | HTEHER 1:39.2 2-11-1-11]41.2| — 8 461 | 1ERARTY (HA18)
EH g| 771 TxT— 54.0 ) o |EERX
R:hTI R4 B/ =) Y]
5 it 5 | EEHT 1:39.3 10-10-10-9 | 1.5 | — 10 | 454 |MEA (f45)
6/5/5|FbX/ A2 54.0 (1/2) (16) | T/IMeER
R:7Ud—v B:4TY JI E454%
; it 5 | mEY 1:39.5 4-4-2-2 | 42.6| — 2 481 | BHEB (11E)
707|10|N717RYE 54.0 (3/4) © | @ H 1a-fr-va>
R:772UILT7 B:HALCZTUT x HEH
N AHIES : 57— — RHBEE (H1E)
8 7l LA K=—T X i 5 EAE 1.(329).9 5-5-7-5 | 42.3 7 (4:316) amS
R:2¥v—h770a> BiLA2K—TILT7 TFEERAKS
4 5 | IR 1:40.1 3-3-3-3 | 42.9| — 5 454 | BB (fAE)
9 o | bL=l 54.0 (3/4) +3) 7]<J:/S\U7-n
L:xrivvH/ ¥t BECT LTS Sz e ]
i 5 > B 4 | AEEX 1:40.1 8-8-6-6 |42.6| — 6 494 | TEASESL (fRfE)
10/ 8 |11 774 bA=Y— 54.0 (NF) (45) =HEFE
LN—=Y97354 B:a-I-O0-—I— BT 7 —L4
. B4 | REEHE— 1:40.3 9-9-9-10 |42.5| — 12 | 448 | KEEE (1B
17| 13 Fr> 54.0 (11/2) (+10) | EERE
LY =Z24—-3=2244— B:¥39IA470% ik e
o N EHED : —0-3— — JIBE— (#A18)
1 4| FERAYE— b it 4 e 1(;([):;1 2-2-3-7 | 43.2 1 (4_518) Lemat
RiANT - BT RIS Y DS J =% Ty — I
® I —F—EBIERL
1a—74— 1,4,2,10,7,12,6,11,9,5,3,8
Aol=5r= 1,4,2,10,7,12,6,11,9,5,8,3
G§a=7r= 1,10,(2,4) ,12,11,7,6,9,5,8,3
40 —F— 1,10,2,12,7,11,4,6,5,9,8,3
[ RN
B OB 12 530M 714K 3-12 2,160 e & 3-8 4,950M &R 3-6-12 9,760
8 B 12 1704 6-12 470 B 8-3 8,370M JEH 12-3-6 84,240
3 410M 3-6 1,520H B E 3-12 8,290
6 1509 B H 12-3 12,690M

ABICOVWTRDTEEERROODE. TR LIV,




